HSC 2001 - Chemistry

Question 15

15  Four students were asked to test a solution for the presence of a cation by using various
anions. The students obtained these results:

Student Chloride Sulfate Carbonate
A no precipitate | no precipitate | precipitate
B precipitate precipitate no precipitate
C precipitate precipitate precipitate
D no precipitate | precipitate no precipitate

Each student concluded that Pb>* was present.

Which student had results consistent with this conclusion?

A) A
(B) B
<o cC
(D) D
Choice | Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 21.1 18.9 9.1 5.4 3.4
B 23.6 34.8 48.8 50.5 459
(o3 33.3 24.4 24.2 33.8 46.9
D 21.1 21.6 17.5 104 3.9
N 0.8 0.2 0.4 0 0
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The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to
identify: No valid response.
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